Py DEVWEFN [FR] CRDEXT

Bk —i%BF W=7 =25 ( E J—b )
E2
1% —f (EASEEE ) WA R ( ZHREE ) 2
B —i5BF HE=M 65kgllL =255 ( E J—b ]
E3
3 AT —18 ( FASE ) Mt ( Zpham ) 4
8 —itESF B2 70kgXiH B B
5 ER B 6 = %n 7 mT = -
( s ) ( EER ) ( mmamm ) | T |BBO| B EE
5 ER B - ~
( emEs )
6 =E - -
( EER )
7 mT B - -
( zwnEE )
=11 —itEBSF E=IR 70kgBlL =55 { E OJ—b )
E4
§ hE =v ( EHBEE ) WA RE ( BEm ) 9

Bk OYAJI V>IIARHI—X (40~44#%)

10 #i EF 11 fx EF 12 %\ - P
( hEx ) ( HKU=EE ) ( w2 ) IR | B0 | B | AR

10 #3 EE F1 Fo

( hEB=R )

11 fRix EH F1 F11

( KU=EE )

12 %k - o F11

( #%2 )

8% OYAJI JS5YRIRAH—X (50~54%%) B | B
13 dktzE EE 14 &= HA 15 KB &&
g | =
( zEom ) ( ZFomEE ) ( wEm ) 1A | B&0| B | TR
13 k2B EE E2 E7
( zmm )
14 #HE HBi £ F12
( Z=HBEER )
15 XE && - F12
( HEn )
BE OYAII F2IIRH—X (55~595%) =5 [ F J—b ]
F3

16 ¥# BEZ ( HiEz ) £\ ( FAER ) 17



